SANACOROIT  full Marks : 50

1 JI=S THET THTITH - 12x2=24
a. TSt afvfd dferoaton sTrer=aam, 12
b7 Sig SPrdty gt - 3T gAre: &: ? {5 Fd T4 Siga? 1+11=12

C.TaTHIEY TYRITATES a1 HEed] =g JehHd — UTeicdl Hed ad: o had ? qU-shlcl qeT: i shomdiq ?  [+5= 12

2. TohT ST HIATH SRS 8x1=8
QAT HFgRh! amTesfaae |

ST THaT 3 Teid e ||

b. =fer gt gar w1 541 7

& greaarefeerfe 79 vy Frtge SRl

3 T SATEAT T TR T - 8x1=8
2. ToRaTg ek d: TN 7 Joa-1ar: Swal JSffa: |

37T €Y e Ty |TY A feqHAreTi 9 g e ||

h o wet wES ST Jaei fHeRRe: |

7 foedrer 7 w1 7 T i e fressfea g feafyor: )

4, g ot 2x2=4
i. foet (2.a) or wredToa (2.8)
il =g : (3.a)or amerifaa (2.a)

5. ek T SceraHIas, 2x1=2
I. &ae (3.h) or F=ra: (3.9)

6.zt frofar - 2x1=2
=< (2.8) or o= (3.h)

7. 79<3 JH5d THISIE 2x1=2
i 7t (3.0) 37 % et ?

i1 zreen (2.b) sfer wfeafess foramagan ?

iii a7t (2.b) 3fr e foreeromy ?



